Ersatzteilliste Lista parti di ricambio 6720804688
Spare parts list Onderdelenlijst (2022/05) Ri
Liste des piéces de rechange Lista de repuestos

SU200/5E

)

8738892098.aa.RO

Buderus




2022/05 2 6720804688




[de] Wichtige Hinweise zur Installation/Montage

Die Installation/Montage muss durch eine fur die Arbeiten
zugelassene Fachkraft unter Beachtung der geltenden Vorschriften
erfolgen.

[en] Important notes on installation/assembly

The installation/assembly must be carried out by a qualified contractor,
following these instructions and in compliance with the applicable
regulations.

[fr] Instructions importantes pour l'installation/le montage
Linstallation/le montage doit étre effectué(e) par un spécialiste qualifié
pour les opérations concernées et dans le respect de la présente
notice et des prescriptions applicables.

[bg] BaxkHu yka3aHusi BbB Bpb3ka C MHCTanaumsita/MoHTaxa

WHcTanauysita/MoHTaxbT TpsibBa Aa ce M3BbpLUBa OT NMULEH3VPaH
3a paboTuTe CreLmanmicT B CbOTBETCTBUE C HACTOSLLIOTO
PBKOBOACTBO ¥ C MPUMOXMMUTE pasnopeadu.

[cs] Dulezité pokyny k instalaci/montazi

Instalaci/montéz musi pii dodrZeni pokynt uvedenych v tomto navodu
a platnych predpisti provést odborny pracovnik s pfislusnym
opravnénim pro tyto prace.

[da] Vigtige anvisninger til installationen/monteringen

lInstallationen/monteringen skal foretages af en godkendt installater
under overholdelse af denne vejledning og de geeldende forskrifter.

[el] ZnpavTikég uTTOBEIEIG YIa TNV eyKaTAoTOG/OUVAPHOAGYNON
H eykatdoTaon/Totmo0ETnon TTPETTEN VO avaTiOETaI OE EKTTAIBEUHEVO
IO TIG CUYKEKPIUEVEG EPYOCIEG TEXVIKO TIPOCWTTIKO HE TAPNON QUTWV
TWV 0BNYIWV KABWG Kl TWV OXETIKWY TTPOBI0YPAPUIV.

[es] Indicaciones importantes para instalaciéon/montaje

La instalacion/el montaje debe realizarla personal especializado que
esté autorizado para realizar estos trabajos y que tenga en cuenta
estas instrucciones y la normativa vigente.

[et] Olulised juhised paigaldamiseks/montaaziks
Paigaldamist/montaazi tohib labi viia vaid selleks volitusi omav
spetsialist, arvestades kehtivaid ndudeid.

[nI-BE] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur rekening houdend met
deze handleiding en de geldende voorschriften.

[fi] Tarkeité asennus- ja kokoonpano-ohjeita

Naihin tdihin hyvaksytyn ammattiasentajan pitda suorittaa asennus- ja
kokoonpanotyét voimassa olevien maaraysten mukaisesti.

[hu] Fontos tudnivalok az installalashoz/szereléshez

Atelepitést/szerelést egy, a munkalatokra felhatalmazott szakembernek
kell végeznie, jelen utasitas és az érvényes eléirasok figyelembevétele
mellett.

[it] Avvertenze importanti per l'installazione/il montaggio

L'installazione/il montaggio deve aver luogo ad opera di una ditta
specializzata ed autorizzata in osservanza di queste istruzioni e delle
direttive vigenti.

[ka] 8608369emm3360 800100198300 0BLGME0NLEIZ0L/BmMBGE 5030l
0BLEMENY/8MBESI0 YBCos 3obbmMEngmeogls LeB1Bsmgdnlion3znl sd3gdmmo
3350053030900 39MLmMBsgmls Bngf, BmgBacen gsbafalinls cos3non.

[It] Svarbios instaliavimo ir (arba) montavimo nuorodos

Instaliavimo / montavimo darbus, laikydamiesi Sios instrukcijos
reikalavimy ir galiojan¢iy taisykliy, privalo atlikti Siems darbams jgalioti
specialistai.

[Iv] Svarigi noradijumi par iekartas uzstadiSanu / montazu
Uzstadisanu/montazu javeic atbilstoSajiem darbiem sertificEétam
specialistam, ievérojot 8o instrukciju un spéka esoSos noteikumus.
[nl] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet door een erkend installateur volgens de
geldende voorschriften worden uitgevoerd.

[no] Viktig informasjon om installasjon/montering

Installasjonen/monteringen skal gjennomfgres av autoriserte
installatarer, og installasjonsanvisningen samt gjeldende forskrifter
skal folges.

[pl] Wazne wskazowki dotyczace instalacji/montazu
Instalacje/montaz powinien wykona¢ specjalista uprawniony do tego
typu prac z uwzglednieniem informacji podanych w niniejszej instrukcii
oraz aktualnie obowigzujgcych przepisow.

[pt] Indicagdes importantes relativas a instalagao/montagem

Alinstalagdo/montagem deve ser efectuada por um técnico autorizado
para os trabalhos, respeitando este manual e as prescri¢oes validas.

[ro] Indicatii importante privind instalarea/montajul
Instalarea/montajul trebuie realizate de catre un specialist autorizat
pentru lucrarile respective, respectandu-se prezentele instructiuni si
prescriptiile valabile.

[ru] BaxHble yka3zaHus NO NOAKINIOYEHNIO/MOHTaXy

IMoakntoveHne/MOHTaX AOIPKHbI BbIMOMHATD TOMBKO CreLmManmcTb,
MMetoLLME JOMYCK K BBIMOSHEHWIO Takvx paboT, npu cobrnogeHnn
TpeboBaHW 3TON UHCTPYKLMN 1 AEVCTBYHOLLIMX HOPM W NpaBur.

[sk] Dolezité pokyny tykajtice sa inStalacie/montaze
InStalaciu/montaz musi vykonat odbormny personal, ktory ma
opravnenie pre vykon tychto prac, pricom musi dodrziavat' pokyny
uvedené v tomto navode a platné predpisy.

[sl] Pomembni napotki za namestitev/montazo
Instalacijo/montaZo lahko izvede samo pooblascen strokovnjak ob
upostevanju teh navodil in veljavnih predpisov.

[sr] Vazna uputstva za ugradnju i montazu

Owu instalaciju/montazu moraju da obave stru¢na lica koja su
ovlaSc¢ena za obavljanje takvih radova u skladu sa ovim uputstvom i
vazecim propisima.

[sv] Viktiga anvisningar for installation/montering

Installationen/monteringen maste utféras av en behorig och tekniskt
utbildad person enligt denna anvisning samt gallande foreskrifter.

[tr] Kurulum/Montaj ile ilgili 6nemli uyarilar

Kurulum/montaj, bu galismalari yapmasina musaade edilen uzman
kisiler tarafindan isbu kilavuz ve gecerli yonetmelikler dikkate alinarak
yapiimalidir.

[uk] BaxnuBi BKa3iBKM LLIOA0 YCTAHOBKU/MOHTaXy

BcTaHoBneHHS/MOHTaX NOBUHHI BYKOHYBaTK chaxiBLi, LLO A0MNyLLEHi
[0 BVYKOHaHHS! Takux pobiT, i3 4OTPUMaHHSAM LET IHCTPYKLIT Ta Ajtoumnx
npunucis.

[zh] ZESEMETEIRS
SR TIE A TS A R,
ER A REF AR BRI TERAGEREK
aanillfus il dala cldiadie [ar]
Al il sl sled e ga canlly Al ¢ jemn anadic U8 Ge genillaS Gl o of ng
3 gl 0 i aga i S [fa]
JalS a5 it 5 el S (il 4 e 4S (51 48 yn (53 8 o 55 3y 35 oo
2 plas) ada g je Sl e 4

2022/05

6720804688




Ersatzteilliste
Spare parts list

Liste des piéces de rechange
Lista parti di ricambio

Onderdelenlijst
Lista de repuestos

FD < 05/2022

FD > 05/2022

e

s

8738892099.ab.RO

Speicher 200 E
Cylinder 200 E
Ballon 200 E
Bollitore 200 E
Voorraadvat 200 E
Acumulador 200 E

SU200/5E

2022/05

6720804688




Pos | Bezeichnung Bestell-Nr. Bemerkungen
Description Ordering no. Remarks
Dénomination Numéro de commande Remarques
Descrizioni N° d'ordine Osservazioni
Benaming Bestelnummer Opmerkingen
Descripcién Numero el ordenar = Observaciones

w |
[
I=3k=}
oo
SRR
o R
282
1 |Abdeckung D550 Deckel schwarz 87185423190 [ N |
2 |Stopfen EPS Oberteil D370 87185417630 [ N |
3 |Isolierung Vlies 250x250x60 everp 8 735 100 691 [ N |
5 |6kt-Schraube M10x25 (8x) SW16 everp 7 735500 189 [ N |
6 |Stopfen G1 1/2"x17 mit PTFE-Ring everp 8735100 849 [ N |
7 |Abdeckung E-Heiz Anschl EPP-Kurz everp 7 735502 059 [ N |
8 |O-Ring 120,02x6,99-N everp 87185725380 [ N |
Logo Buderus 87185415730 [ N |
Lackspriihdose RAL5015 150ml (himmelblau) 87185766340 u
Lackstift BBT-Weill VZF 37351 12ml everp 8718 584 684 u
Lackspriihd. BBT-weiR VZF37351 400ml ever 8718 584 685
Lackstift blau RAL5015 12ml everp 8 738 805 222 u
SU200/5E Speicher 200 E

Cylinder 200 E
Ballon 200 E
Bollitore 200 E
Voorraadvat 200 E
Acumulador 200 E

2022/05

6720804688




Ersatzteilliste Liste des piéces de rechange Onderdelenlijst
Spare parts list Lista parti di ricambio Lista de repuestos

20x & 1504032 M8 8 A3K
20x & DIN6798 A8,4 A3K
10x & DIN6798 A10,5 A3K
10x DIN125 A8,4 A3K
10x

\_10x S 8x25x2

8738892096.aa.RO

Anode + Handlochdeckel SU200/5E
Anode + Handhole cover

2 Anode + Trappe de visite
Anode + Coperchio d'ispezione
Anode + Handgatdeksel
Anodo + Tapa de la boca de hombre

2022/05 6 6720804688



Pos | Bezeichnung Bestell-Nr. Bemerkungen
Description Ordering no. Remarks
Dénomination Numéro de commande Remarques
Descrizioni N° d'ordine Osservazioni
Benaming Bestelnummer Opmerkingen
Descripcién Numero el ordenar = Observaciones

w |
0|0
S|S
oo
SRR
o R
282
1 |Anode M8x400 D=33 Everp 8 735 100 892 [ N |
2 | Anodenbefestigungs-Set (10x) everp 5264 278 [ N |
3 |Massekabel isoliert fir Anode everp 63037168 [ N |
4 | 6kt-Schraube M10x25 (8x) SW16 everp 7 735500 189 [ N |
5 |Handlochdeckel DN120 fiir Anode everp 7 747 004 739 [ N |
6 |O-Ring 120,02x6,99-N everp 87185725380 [ N |
SU200/5E Anode + Handlochdeckel

Anode + Handhole cover

Anode + Trappe de visite

Anode + Coperchio d'ispezione
Anode + Handgatdeksel

Anodo + Tapa de la boca de hombre

2022/05

6720804688




Ubersetzungsliste
List of translations

Liste des traductions

Traduzione delle descrizioni

Vertalinglijst

Lista de traducciones

Pos | Description Denomination Descrizione Benaming Descripcion

1 Element of construction Groupe de construction Gruppo di construzione Montagegroep Grupo de construccion

1 Cover Outer Case D550 Black |Couvercle Couvercle D550 noir ::::)ertura Coperchio D550 Afdekking Deksel D550 zwart E:;:rl:)brlmlento Tapa D550

2 Plug EPS upper section D370 ggl;((:)hon EPS partie supérieure B%F;%o EPS Parte superiore Stop EPS bovendeel D370 Tapon EPS parte superior D370

3 |Insulation Fleece 250x250x60 | o, ation toison 250x250x60 | Soibentazione vello Isolatie viies 250x250x60 Aislamiento vellén 250x250x60
Packed 250x250x60

5 Thread-forming screws M10x25 | Vis # ressort M10x25 (8x) clé |6kt vite autofilettante M10x25 | Zelftapschroeven M10x25 (8x) |Tornillos automaticos M10x25
(8x) AF16 de 16 (8x) SW16 SW16 (8x) SW16

6 Plug G1 1/2"x17 with PTFE- Bouchon G1 1/2"x17 PTFE Tappo G 1 1/2"x17 con anello di|Pluggen G 1 1/2"x17 met Tapén G 1 1/2"x17 con anillo de
Ring PB2 SP joints PTFE PTFE-ring PTFE
Cover E-heater Socket EPP- Couvercle manchon chauff Copertura Riscaldamento Afdekking Elektrisch verwarm. -

7 . : ) Recubrimiento - EPP corto
Short packed électric court manicotto breve mouw kort

8 O-ring 120,02x6,99-N Joint torique 120,02x6,99-N O-ring 120,02x6,99-N O-ring 120,02x6,99-N Anillo térico 120,02x6,99-N
Badge Buderus Logo Buderus Logo Buderus Logo Buderus Logo Buderus
Aerosol paint RAL5015 150ml |PEINTURE BOMBE RAL 5015 |Bombola spray RAL5015 150ml|Spuitbus RAL5015 150ml Bote de spray RAL5015 150ml
(sky blue) 150 ML BLEU CIEL (azzurro) (hemelsblauw) azul celeste
Paint pen BBT-white VZF Crayon pour retouche vernis Pennarello a vernice per . . Rotulador de laca BBT- blanc
37351 12ml BBT- blanc ritocchi bianco Lakstift BBT- wit 12ml 12ml
Paint spray can BBTwhite VZF |Laque gaseuse VZF 37351 Erogatore VZF 37351 400ml Doosje lak VZF 37351 400ml | Atomizador esmalteVZF 37351
37351 400ml 400ml blanc bianco wit 400ml blanco
Touch up pencil blue RAL5015 |Crayon retouche bleu RAL5015 |Pennarello a vernice per . Rotulador de laca azul
12ml 12ml ritocchi blu Lakstift blauw RALSOTS 12ml | pa| 5015 12ml

2 Element of construction Groupe de construction Gruppo di construzione Montagegroep Grupo de construccion

1 Anode M8x400 D=33 Packed |Anode M8x400 D=33 Anodo M8x400 D=33 Anode M8x400 D=33 Anodo M8x400 D=33
Mounting kit magn.anodes N Set di fissaggio anodi di Bevestigingsset . . i

2 insulated 10 pc Fixation pour anode (10 pces) magnesio (10x) magnesiumanoden (10x) Kit de montaje del Anodo (10x)

3 Earth cable isolated for anode |Cable de masse pour anode Cavo di massa anodo (isolato) Massakabel anode Cable tierra para anodo

(ge#tsoleerd)

4 Thread-forming screws M10x25 | Vis # ressort M10x25 (8x) clé |6kt vite autofilettante M10x25 | Zelftapschroeven M10x25 (8x) |Tornillos automaticos M10x25
(8x) AF16 de 16 (8x) SW16 SW16 (8x) SW16
Access cover DN120 f anode . B . Boilerdeksel mangat ST/3+S- | Tapa de la boca de hombre

5 enameled Trappe de visite DN 120 L160 |Coperchio d'ispezione DN120 RW "V/1" DN120

6 O-ring 120,02x6,99-N Joint torique 120,02x6,99-N O-ring 120,02x6,99-N O-ring 120,02x6,99-N Anillo térico 120,02x6,99-N

2022/05

6720804688




2022/05

Geratetypen Types de chaudieres Toesteltypes
Types of appliances Tipo apparecchi Tipos de aplicaciones
Gerat Bestell-Nr. Land Bemerkungen
Appliance Ordering no. Country Remarks
Chaudiere Numéro de commande Pays Remarques
Apparecchio N° d'ordine Paese Osservazioni
Toestel Bestelnummer Land Opmerkingen
Aparato Numero el ordenar Paese Observaciones
SU200/5 EW 8718 543 078 Belgien,Bosnien und Herzegowina,Bulgarie
SU200/5 E 8718 543 077 Belgien,Danemark,Frankreich,ltalien,Luxe
SU200/5 E 8 718 543 079 Bosnien und Herzegowina,Bulgarien,Estlan
SU200/5 EW 8 718 543 080 Bosnien und Herzegowina,Bulgarien,Estlan

9 6720804688



Bosch Thermolechik G Buderus

D-35576 Wetzlar / Germany

2022/05 10 6720804688




